Circle the letter corresponding to the
correct answer.

Aagasall LYl 3 Jsa Bl g

Question 1

1 Il

Which comes next in the pattern?

thaail) & W AL b Las

ORDOK

s | | D

B O

0 ||

Question 2 2 Jliaadl
Identify the next term in the Aliiall A G0 aad) 33
sequence.

197, 177, 157, 131, vunsasirs

197, 177, 157; 135 savis

A 97

B. 107
C 117
D 127
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Question 3 3 i)

Write an equation that describes the el sl dlalaa LS|
pattern.

kil 2 I
5|15 |25 |35|45 |55

un
~J
~0

15 (25|35 |45 |55

A n+4=m

B m+4=n

C nx5=m
D mx5=n
Question 4 4 Slyed)
Which expression has a value of 130 Alad 1 el L
307

A 3x5+5

B 3x(5+5)

c { [3x9—1

D 40+5-3
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Question |

Complete the table.

36 2 36
3
A 13
B 18
Cc 42
D 84
Question 6 6 Jljud

Ahmed is counting by 7. Which of
these numbers will he not say?

O A 2165 (gl 7 oy daal sy
s Al 329 G e 058

A 14
B 21
c.lH |28
D 36
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Question 7

g

Which of the following is a prime
number?

Ulyl s sy G Laa

A 27

B 61

C 63

D 81
Question 8 Jipeal

What is the unknown denominator O 1Y Jsgaall pliall 5a La
B .t 102

15 15

A 3

B 5

c 6

D 9
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Question

9

1
than =7
z

Which fraction is not greater

1
12 00l gl S

A

ISR TR I R |

Question

10

10 Jlgd)

Write a mixed number and

an improper fraction for the shaded

QA g 3 paill Soma Husy Uyl Ve SN

model.
3 13
A Gr A
34'4-
3 15
B el )
34,‘4
1 13
c o i
34'4
1 15
D b el
34' 4
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Question 11 1 JIpeadl
Find the sum. Esanall dagl
3+2_ 3 z_

878" 8t8”
A | |1
16
Bl |5
16
c | |2
8
p | |2
8
Question 12 | 12 Jigead
Find the differonce. lall gl gy
Write In simplest form. gt S o8

9 4 9 4

10 10 0 10"

Al IL

2

B | |L

4

c | |13
20

3

D lﬁ
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Question 13 13 gl
Find the sum. Eyaaall 22
S L.

8 8 8 8
1
A A
116
)
B ety
e
c =
8
7
D i
8

Question 14 14 Jljedd
Abdulkarim worked 5;:- hours at the | .oi€) ama b cicl 5% pAl e Jee
book fair. Abdulaziz worked 35 I 3§ Al 38 Jes
hours at the book fair. puSll 35 ABadu) o) Al gl jala g La
How much longer did Abdulkarim flaadl B

work?

A

¥

mw
b

O
@

Q
o
Clh | O Ol O N
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Question 16 15 Jguall
Multiply. sl
2 X 1 = 2 % 1 -

B e 5

o (L
10
o RES
10
e | |2
5
1
D i
. 5

Question 16 16 Jlgaalt
Which decimal represents the part Oa QUE) gial) Jiad dypdall sl (gl
of the model that is shaded? TEM

A 0.05
B 0.1
c 0.5
D 5.0
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Question 17 17 NNl
Which decimal shows seventy—two | fiia g gy oull (e ddall dsY) 6
out of one hundred?

A 0.27
B 0.72
C P
D 7.2
Question 18 18 Jigaad)
Which fraction is equivalent to ¢ i il 4‘
3 5 10
i"’ﬁ'-
. |3
100
8 | |30
100
B
10
o | |3
1
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